Name:

CDividing Money - In’rermedio’re)

a. $63.12 +8 =

a¥Walla¥al

b. A box of granola bars costs $7.68.

d. Jalil earned $265.50 shoveling

snow. He worked for 5 hours. How
much did Jalil earn per hour?

Show your work.

answer:

Preview

Please log in to download
the prinfable version of this worksheet.

answer:

3]$59.16

f.

Bella bought 4 pillows. She spent
$21.96 in all. How much did each
pillow cost?

Show your work.

answer:
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ANSWE R KEY (Dividing Money - In’rermedio’re)

(Division)

a. $63.12 +8 = $7.89 d. Jalil earned $265.50 shoveling
snow. He worked for 5 hours. How
much did Jalil earn per hour?

Ihe III.

answer: $5|'|'9
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